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	1 
	Solve for x:

(a) (x – 3)(x + 5) = 0




(b) −2x(3x – 4) = 0







	2 
	Solve for x:

(a) (x – 6)(x + 5) = 0




(b) (5 – 2x)(x + 7) = 0








	3 
	Solve for x:

(a) x2 + 8x + 16 = 0





(b) x2 – 34x + 120 = 0







	4 
	Solve for x:

(a) x2 – 64 = 0




(b) 4x2 – 49 = 0








	5 
	Solve for x:

(a) x2 + 7x = 0






(b) 6x2 – 15x = 0









	6 
	Solve for x:

(a) 2x2 – x – 6 = 0









(b) 6x2  7x – 20 = 0











	7 
	Solve Equations:

(a) 
=0




(b) 
 =0






	8 
	Solve Equations:


=0










=0
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[EZ solve each of the following equations.
6=0

b.2?+6z+8=0
ca?—6z-7=0
dz?—8z+15=0
ez —22+1=0
fa?—3z-4=0
92— 10z+25=0
h2? —32-10=0
i2?—8z+12=0
j2?—4z-21=0
ka?—2-30=0
2 —7z+12=0
ma2® —8z+16=0
n.z? 410z +25=0
0.2% — 20z + 100 =0
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8. [IZZ Solve each of the following equations.
2.2 —5z=3

b 322 + 2 —

c 522 + 9z =
d.62% — 11z +3=0
e l4c® —11z=3

f122 7z +1=0
g 62 — Tz =20
h.122% + 37z + 28 =0

102 —z=2

j.622 — 250 +24=0
k 3022 + 7z —2=0
1. 322 — 21z = 36
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Exercise 8.4 Solving quadratic equations graphically
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1. & Determine the solutions of each of the following quadratic equations by inspecting the
corresponding graphs. Give answers correct to 1 decimal place where appropriate.
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22— 11z +10=0
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d.22% -8z +8=0
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9.2% + 15z — 250 =0

24 15x-250
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iz +z-3=0
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3. [IE A gof ball hit along  fairway follows the path shown in the graph

h
28

h= =l (2 150x)

o 75 150%

1
The height, h metres after it has travelled z metres horizontally, follows the rule b = —5o(

~ 150z)
Use the graph to find how far the ball lands from the golfer.
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8. Find the equation of the given parabola. Give your answer in the form y = az? + bz + ¢
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Exercise 8.5 The discriminant
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Discriminant
A=b —4dac
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1. [T Calculate the value of the discriminant for each of the following and use it to determine how many
solutions the equation will have.

a 62% + 13z —
b 2%+ 92 — 90 =0

-0

cattdz—2=0
d. 3622 —

-0
ex?+22+8=0
fa?—52-14=0

9.362% + 24z +4=0
h 2 — 19z +88=0
i2?—10z+17=0

3022 +172 - 21=0
k a2? + 162 +62=0

1,922 — 36z + 36 =0
m. 222 — 16z =0

na?-64=0
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2. [0l 8y using the discriminant, determine whether the equations below have:
i. two rational solutions
ii. two irrational solutions
ii. one rational solution (two equal solutions)

iv. no real solutions.

az-3z+5
b 4z? — 20z + 25
ca?4+92-22=0
d.92% + 122+ 4
ez +3z-7=0
f.252% — 100 +1
32 — 22 -4=0

= @

222 — 5z +4=0
i2?—10z+26=0
322 +52-7=0
k 22% + 7z — 1

-0
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CODE PUZZLE

Aussie fact

Factorise each of the following and then solve for  to discover the puzzle
code.
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m||m|O|®l >

x2-4x=0
x2+7x=0
x2+6x+5=0
x2+2x+1=0

x2-8x+12=0

= |\®) [0 FO FZ

22 -2x-4=0
3x2+12x=0
3x2-12=0
x2+7x+10=0

3x2-3x-18=0
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H x2-81=0 U x2-8x+16=0
|  x2-16x+64=0 W x2-9x+20=0

L x2-2x-3=0 X x2+6x-27=0
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Exercise 8.2 Solving quadratic equations algebraically
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1. [ Soive each of the following equations
a(z+7)(-9=0
b.(z—3)(z+2)=0
c(z-2)(—3)=0
d.a(z—3)=0
eaz—1)=0
fa(z+5)=0

g 22(c -

h.9z(z +2) =0

i (z—%)(”%):o

i —(z+1.2)(z+0.5)=0
k 2(z — 0.1)(2z — 1.5) =0
L (z+V2)(z — v3) =0
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2. Solve each of the following equations
a(2z-1)(@—1)=0
b.(3z+2)(z +2)=0
c(z-1)@-7)=0
d. (72 +6)(2z —3) =0
e (52— 3)(3z —2)=0
f.(8z+5)(3z —2)=0
g z(z—3)(22-1)=0
h.z(2z — 1)(52 +2) =0

i 2(z +3)(52 ~ 2) =0




